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XTI WMEMA | FoessAsa [ RHBRREUT|REBRUT[HRERRLUT| 43 7.1 5.6 B | 1-BSKETAEIEE=ZRADIQFS200
FThHRE REIEMA | Frssea | RHBRUT|RHEBERUT|[RHEERLUT] 4.1 5.7 5.4 Hx | 3-BRMEEERE T = ZRADIQFS200
INATFE JIEH N | Faossan7a| RHBRUTREBERAUT|RHEBRREUT|] 43 6.0 5.8 Hx | 3-BKMETEERE T = ZRADIQFS200
B/ T) | AARNA [Frseana|RHEBFUT[HRHEERUT 12.6 42 5.4 49 54 )3%E| 4-B R IRETEERE = ZRADIQFS200
R/a(F<)| BEETHA | Fess4R 58| RHBRUT|RERFLUT[HRERERUT 3.8 5.6 46 s4r /%8| 3-£ & B E I E = #RADIQFS200
B/a(aT)| BERTHhA  [Feessaisa|RHBERUT[RHEBRUT|RHERUT 40 5.9 5.4 s4r /%8| 2-£ BB E I E = #RADIQFS200
A8 FURY)| BB A | Fressen 8| REBBRUT 7.8 55.5 4.4 55 5.4 BES | 4B R KETEERE E=¥RADIQFS200
R /3(F)| E/\IERA [Frssipzoa| RHEEBRUT[HRHRBRRUT 7.6 3.8 5.9 46 54 /25| 1-B R IRETEE R E = ZRADIQFS200
FrRy AINBTHO A |Fresam2iB| RHBRUT|[RHERUT|RHEEBERLUT| 338 5.8 5.3 HE | 1-BKKETEEREE=ZRADIQFS200
FAHha3ds HPERMA |FressR2 8| RHEBRUT[HRERRUT|RHEBRUT|[ 250 8.0 8.0 WUZE | 1-CAPTUS-3000AR! & B % M AHRE Rl 5
LAX FRAHAN | Fassa2a| RHBRFRUT|REERUT[HRHBRLUT 4.2 55 5.4 FE | 2-BSmEtEERE = 4RADIQFS200
INFIIFRE Fothih N | Tressapea| BHBRUT[RERREUT|RHBRUT 3.7 5.8 5.1 HE | 3-BSKsTAERIEE=SRADIQFS200
FrRy WERA  |FrossA2a[RHEEBRUT|REBRUT[RHEERLUT 3.9 6.2 5.0 B | 2-B K KETEER EE=ZRADIQFS200
NIIRE WERA  |FrossA2a[RHEBRUT|REBRUT[HRHEERLUT 4.1 5.7 5.4 B | 1-BKKETEER EE=ZRADIQFS200
A4/ BIERA | FrossAsa[RHEERUT|REBRRUT[RHEERLUT] 4.1 6.1 5.7 54 /35| 1-B R IRETEERE = ZRADIQFS200
2)L4 HPERHA |FrossiAsn| RHEBRUT[HRERRUT|RHEERUT 45 6.8 6.0 Wi | 2-B & KETEERIE = #RADIQFS200
A4/ SRR |FrossansaRHRFRLUT 12.0 79.4 47 5.7 6.7 54 /3%E| 3-8 R IRETHERE = ZRADIQFS200
24/ KA | Frossarose | RHBRUT[HRERRUT|BRERBREUT| 250 8.0 7.0 A4 /%8| 1-CAPTUS-3000AR! & B & IRGTRERI R B
A4/ FE/\IEHh N | Frossarzen| RHBRFRUT|RHEERUT[HRHRBRRLUT 45 6.1 6.2 24 )3%E| 2-B B RETHERE = ZRADIQFS200
Hho hyAh N | FrossemsaRHBRFRUT|RHEBERUT[HRHBRRLUT 3.7 5.5 5.5 HE | 1-BKKETEER EE=ZRADIQFS200
B4/ HHEFHA | FressAsa RHEBRUT|RERRUT 8.0 25.0 7.0 6.0 %47 ) %8| 1-CAPTUS-3000AZ! & & S RSt AL I 2 S
Hh7o IREHA | FazswsAe | RHEBRUT[RERRLUT|RHEERUT 4.1 6.0 5.2 HE | 1-BKKETEER EE=ZRADIQFS200
LAX WMEHA | Frsssaa | RHBRRUT|RHEERUT[HRHBRLUT 4.8 7.2 6.3 B | 2-B K METEER EE=ZRADIQFS200
AT (FURY)| BERTHIIN  [FeicsesA2e | BRHBRUT 32.3 198.0 5.5 6.9 7.8 EEE | -2 & KETARE E=ZRADIQFS200
Hh7o R | Faizews A |[RHBRUT[RERRLUT|RHEERUT 42 5.9 5.6 HE | 4-BKMETEER EE=ZRADIQFS200
2% RKARMA | FrosesAza | REBRUT[REBRUT|REBERUT|] 250 8.0 7.0 U5 | 1-CAPTUS-3000AB & % AT BE I B
7k RARMA | FrsesAza | REBRUT|HRHERRUT 7.0 25.0 6.0 5.0 Wi | 1-CAPTUS-3000AR! & R % HISTRERIE B
FARNSHR | FARIERA | Frosesfea[REBRUT|RHEERUT|RHERRLT 5.2 7.7 7.5 FE | 2-ARKEEEREE = SRADIQFS200
LAR REHA | Feesssaen| REBRFUT | REBRUT|(HRERZLT| 4.0 6.0 5.4 B | 1-BSMmEtEER T E=2RADIQFS200
viPA Wah BRI A | FrsmsAeR [ RHEBRFRLUT | RHBRUT|(HREBRFALUT| 4.3 6.1 5.7 B | 2-& &R mEt 4R E £ 2RADIQFS200
IR | JEERA [ FeesssAB |MHBRRUT[RHEEBRUT|MERRUT) 4.1 6.1 5.3 FE | 4-BRMEEERE T = SRADIQFS200
7% LA | FacswsAeE | RHEBRUT[RERRLUT|RHERUT 4.4 6.3 5.9 Wi | 2-& & EtEERIE = ZRADIQFS200
X7 HERRMA | FreszsAon | RHRFLTEHERUT 13.9 4.1 6.3 5.2 W | 3-&SHEtaERIE £ = ZRADIQFS200
SYIEY | EHA  [FresssAoB |#MHRRUT[RHEBRUT|MERBRUT) 4.1 6.4 5.2 FE | 1-BRKEEEREE= SRADIQFS200
ROLIYD | EHA  [FeesesAn | RHERRAUT|[REBERUT|HREREUT] 4.1 6.8 5.5 HE | 3-&KMETEER EE=ZRADIQFS200
HYIVRD | KN |Fressspoe| RHERRUT[REBRUT|RERRUT] 250 8.0 8.0 B35 | 1-CAPTUS-3000AR! & @ S A AR 25




AF=X hETHIN | Fresaspoa[RHBRRUT|RHEBERUT[HRHRRLUT 3.6 5.7 49 #EK | 1-B & HKETHERIE E=2RADIQFS200
T4 |EREAEKHA|FrosasAoa[RHBRUT|REBFRUT[HRHERLUT 42 6.4 5.1 B | 2-BSRSHEER T £=4RADIQFS200
Hho iRERE KA | FrosesAoB [ RHBRUT|REBFRUT[HRHERLUT 40 6.5 5.4 HE | 2-ASKsTAREE=ZRADIQFS200
SN hETHIN | Fresaspoa[RHBRRUT|RHEBERUT[HRHRRLUT 41 5.8 5.0 B | 1-BSRSEER T E=ZRADIQFS200
A4/ AIRETHO PN | FriossesAton | RHBR R U T|RHEBERUT[HRHRBRRLUT 41 5.4 4.9 S4r /a%8| 1-B & KETEERIE = #RADIQFS200
1F=X AEETH A |FmzsesAon RHBRUT|BRHERUT[RHEBRUT 3.5 46 4.4 $#EK | 1-B&METAERIE £ ZRADIQFS200
roLIYD | MEMA  |FmesssAne| RHBRUT[RERERUT 5.1 43 5.4 49 HE | 2-BSKsTAERIEE=4RADIQFS200
avXy | HERMA |FeesssAne| RHEBRRUT[REBRRUT|RERBRLUT 3.9 5.8 48 HE | 4-BSKETAERIEE=4RADIQFS200
LAX RERA | FrosesA e[ BRHERUT|REBRUT[RHERLUT 42 6.2 5.6 HE | 2-BSKsTAERIEE=4RADIQFS200
HYIVED | BRIEMA |Frsssaea| RHRBRRUT|REERUT[HRHRBRREUT 25.0 8.0 7.0 % | 1-CAPTUS-3000AR! & & S TR R R B
7% E/\IBHh N |FresasA e RHBRUT[RHERUT|RHEBERUT 3.6 5.5 46 Wi | 3-& R MEtEERIEE = RADIQFS200
IEX E/\IBHh N |FresasA e RHBRUT[RHERUT|RHERUT 45 6.5 6.7 Wi | 4B R MEtEER £ = #RADIGFS200
AHEDFX JLEH N |FresasAse| RHBRUT[RHERUT|RHERUT 45 6.4 5.1 HE | 1-BSKsTAERIEE=4RADIQFS200
moLyYD | LA |FresesAea| RHEEBRUT[RERRLUT|RHEEBRUT 45 6.7 5.1 FE | 3-BSmStEER T E=4RADIQFS200
INNYBHFA| WMEHA  [Fasesaea[RHERUT|RHEBRUT|[RHERUT 4.6 6.2 6.4 % | 1-BSKREEEEE E=4RADIQFS200
FHeEDF* ERIEPA |Frszsaon| RHEBRUT |[RHBRUT|[REBRLUT| 250 7.0 7.0 B% | 1-CAPTUS-3000ARI & & S HEtREI R E
AFYITIVEY| FARIERA [Frsssana|RHRALUT|RHBRRUT|RERERUT 45 5.8 5.5 % | 1-BSKEEEEE E=4RADIQFS200
J0Ovyal)— | #EMRA  |Frhesssae| RHBRUT[RHEERUT|RHEERLUT| 3.8 5.5 48 HE | 1-BSKsTAERIEE=SRADIQFS200
=P BN |Frosesazoa| RHBRFRUT|RHEERUT[HRHBRLUT 4.0 5.8 5.0 BE | 1-BRKETEEEE=2RADIQFS200
AFVTIURD| oREHMA | Frosas Ao RHBRUT|REBREUT[RHEEBRLUT 5.5 6.6 6.1 HE | 2-BSKsTAERIEE=4RADIQFS200
"LV | KARMA [Fresesase|RERRUT[REBERUT|HREREUT[ 40 5.9 5.0 B | 2-& K KETEER EE=ZRADIQFS200
Yo A AR A [ FrzsssAsE[RHRRLUT|RHEERUT[RERRLUT| 4.2 5.5 5.3 HE | 1-ASKsTAERIEE=SRADIQFS200
7% RN [FeesasAa|RHBRUT[HRERERUT|RHERUT 3.9 6.0 5.2 Wi | 1-B & KETEERIE E=#RADIQFS200
HYIRD | FERHIAN  [Fresespaea|RHRRLUT|HREERUT|RHBERUT 25.0 7.0 7.0 EJE | 1-CAPTUS-3000ABI & B S ST BE I R 26 B
FrRY FARIEH A |Frosesazsa| RHBRFRUT|RHEERUT[HRHBRRLUT 3.9 5.3 5.2 HE | 4-BSIKsTAERIEE=SRADIQFS200
AFYITIVEY| FARIERA [FreszsAsa|RHRRUT|RHBRRUT|REERUT 40 6.2 5.3 FE | 1-BSmkEEER T = 4RADIQFS200
JOyal)— WERA | FrsssAsaRHEERUT|RHEBRRUT[HRERFELUT 3.8 5.4 5.0 % | 2-BS RS8R E E=4RADIQFS200
¥ KRBT HO N | FrsasAzsa | IRHER U T|BRHBRRUT[HRERFELUT 42 6.0 5.6 FE | 3-BSmStEERE E=4RADIQFS200
ATy AIPETHMN | FrossAzsn | IRIHIBA T | RHBARUT|RHBRLT| 250 8.0 1.0 BR | 1-CAPTUS-3000AZIE & SRS RE R E R B
HrYIVED B |FeosssAse| RHBRUT|RHEERUT[HRHEBRLUT| 250 9.0 8.0 B | 1-CAPTUS-3000ARI & & S RAH LRI 8
2% —ARKH N |Frsasaza| RHEBRUT[BRHBERUT|RHERUT|] 250 7.0 6.0 Wi | 1-CAPTUS-3000A! & R % MSTRERIE B

7% RIERBTHO N | FresesAzen| IR HEER U T|BRHBRRUT[RERFELUT 3.8 6.0 5.4 Wi | 3-A&KETEERIE E=#RADIQFS200
INDTF— HERMA |Frosesaza| RHEERUT[RERRLUT|RHEERUT] 250 8.0 7.0 B | 1-CAPTUS-3000ARI & @ S RAH LRI 8
¥ AIERET M (A | FriosssAorB[RHBRUT|REBRREUT[HRHERLUT 4.2 5.8 5.7 B | 2B K METEER EE=SRADIQFS200
JOvay— | $EAMA  |FeesesAos| RHBRUT[RHEEBRUT|REERLUT 43 6.0 5.6 HE | 2-BSmStEERE = 4RADIQFS200
A A) KEAHA | FrosesAson| RHBRUT[RERRLUT|RHEERUT 41 6.5 5.6 28 | 1-BS5kStEER%E £ =4RADIQFS200
2X@A) | =W EMA [FresssAs B[ RERRUT|RHBRUT|[HRERRUT 4.3 6.0 5.3 8 | 1-B SR8 EE=4RADIQFS200
FrRY REHA  [Fressasa[RHBRUT|REBRRUT[RHEBRUT 3.9 5.7 4.6 HE | 3-ARMETEERE T = ZRADIQFS200
AFVTIVRY| FEAMA [ FresasAsB[RERRLUT|RHBRUT[HREBERLUT 4.2 6.2 5.7 HE | 4-ASKsTARIEE=ZRADIQFS200




FoT YA | WEMA  [Feesssana[RERRUT|RHBRRUT[HRERERUT 42 5.8 5.4 HE | 1-BSKsTAREE=ZRADIQFS200
H=Z—LAX | WM |Fesssase| RHBRREUT|REERUT[HRHRBRRUT 46 6.3 6.4 B | 2-BSRSHEER T £=4RADIQFS200
X322 X) RN [FresssAs | RHBRUT[HRERRUT|RHRRUT 4.4 6.4 5.9 £ | 1-BSKEEER T E=4RADIQFS200
INFORYT | HERMA [Fresasasa|RERFUT|[HREERUT|RHRRUT 41 5.4 5.7 Wz | 2-B&KETEERIE E=2RADIQFS200
AFvITIURY| dLiEhA [Fressen B [RERRUT|BRHBRRUT|RERERUT 3.8 5.8 49 FE | 1-B 2S8R E £ =4RADIQFS200
FrRy RKAGRMA | Frizeweasn | RHBRFUT|REBRUT[HRHRBRRLUT 3.9 5.5 5.1 HE | 3-BSKsTAERIEE=4RADIQFS200
HYIVED | B | Fezsseaa | RHBRRUT|REERRUT[HRHRBRRUT 41 6.2 5.9 FE | 2-BSmEtEER%E = 4RADIQFS200
AIFRFE BETHN | FeizsweAsa | BRHBRFRUT|REBRRUT[HRHRBRLUT 45 6.6 6.5 HE | 2-BSKsTAERIEE=4RADIQFS200
A3 A HIUHhA | Feizsxeaen | RHBRFUT|RHEEBRUT[HRHRBRRLUT 45 6.4 5.9 24 | 1-BSKsTAERIEE=4RADIQFS200
JAEA) B[R | FresseRea [HRHBRUT|REBFRUT[RHEERLUT 40 5.5 5.1 24t | 1-B R ETEER E E=SRADIQFS200
Hh7 Kithith [N | Friesse A6l |[RHBRUT|RERFLUT|HREERUT 42 6.3 5.4 FE | 2-BSmEtEER T E=4RADIQFS200
JAEA) K | FrizsweAen | RHEBRUT[RERRLUT|RHEBRUT 3.9 5.7 48 24 | 3-BSKsTAERIEE=4RADIQFS200
Idv KEAHA | Fresae A7 |[RHBRUT|RERFLUT|HREERUT 5.1 6.5 5.7 FE | 3-BSmStEEREE=4RADIQFS200
A3 A) KEAHA | FrzsweA78 |[RHEBRUT[RERRLUT|RHEERUT 3.8 6.3 48 24 | 3-BSKsTAERIEE=4RADIQFS200
IVROTA BHIUH A | Fezswea 8| RHBRRUT|RHEERUT[HRHBRRLUT 41 5.7 5.8 FE | 3-BSmStEER T E=4RADIQFS200
AFvITIUEY| BIUMA  [Fresseaa[RERRUT|RHBRRUT|REERUT 41 5.9 5.6 HE | 2-BSmStEER T E=4RADIQFS200
¥ IR A Fr2sEe 78 | RHBRUT[RHERRLUT|RHEERUT 4.2 6.4 5.8 FE | 4-BSmETEER T E=4RADIQFS200
Joyal)— E#hA | Frssessa | RHEEBRUT[RERRLUT|RHEERUT 40 5.8 5.0 FE | 1-BSmETEER T = 4RADIQFS200
HI57— | WEHA | Frssease | RHEEBRUT[RERRLUT|RHEERUT 3.8 6.0 5.1 HE | 1-BSKsTAERIEE=4RADIQFS200
AR A) FETHON | Frizswefon |[RHBRFRUT|RHEERUT[HRHBRRLUT 3.7 5.6 5.3 24 | 1-BSKsTAERIEE=4RADIQFS200
X FETHON | Frizswefon |[RHBRFRUT|RHEERUT[HRHBRRLUT 40 5.6 5.2 248 | 3-BSmStEER T E=4RADIQFS200
LAR RRIEHA | Frsscnn | RHBRUT[RHEERUT|RHEBERUT 4.0 5.6 5.2 HE | 1-BRKETEEREE=ZRADIQFS200
TRy IREFEKRA| FrsseA o8 HRHEER U T|RHBERUT[RERFELUT 4.2 5.6 49 HE | 1-BSmEtEER T = 4RADIQFS200
JOvyal)— | AN |Fhssesos| RHBRUT[RHEERUT|RHERUT 4.4 6.0 5.7 HE | 2-ASKsTAERIEE=4RADIQFS200
~Thk PR |FaosseA 08| RHBRUT[RERRLUT|RHEERUT 3.8 5.6 5.4 HE | 1-BS S8R T = 4RADIQFS200
el Sl IR |FaosseA 08| RHBRUT[RERRLUT|RHEERUT 4.4 6.5 6.1 HE | 2-BSmStEER T E=4RADIQFS200
Fal AERETHO A | Frzssen na[RHBRFRLUT|RHEBERUT[HRHRRLUT 3.7 5.8 5.1 HE | 1-ASKsTAERIEE=FRADIQFS200
FrRY WMEHA  |Fsssane| RHBRRUT|RHEERUT[HRHBRLUT 3.9 5.9 5.0 HE | 4-BSIKsTAERIEE=SRADIQFS200
_FR AL | FRsseA e[ RHERERUT|RHBRUT[HRERFELUT 3.9 5.6 5.1 % | 1-BSREEERE E=4RADIQFS200
AyF—= B |FrosseA | RHEBRUT[RERRLUT|RHEERUT] 250 8.0 7.0 B | 1-CAPTUS-3000ARI & & S RAH LRI 8
= 8 BN |FrizseAsE| RHBRUT|RHEBRRLUT|HREERUT 25.0 6.0 6.0 B | 1-CcAPTUS-3000ARI & B SR BE IR B
TR = E A |FrsseAa| RHBRUT[RERFELUT|HREERUT 4.7 6.5 6.0 % | 3-BSKEEEREE=4RADIQFS200
AIRFE = E A |FrsseAa| RHBRUT[REBRRELUT|HREERUT 3.7 5.2 5.1 HE | 1-BSmSEEE = 4RADIQFS200
Fal Fh N |Fresmen | RHBRUT[RHEBERUT|RHERUT|] 25.0 7.0 6.0 B | 1-CAPTUS-3000AR & R S MATRE AT EE
v HAE JIREHA  |FrosseA B RHEBRUT[RERRLUT|RHEERUT 3.9 5.4 49 HE | 1-BS S8R E = 4RADIQFS200
Fal KRBT HO N | FrsseA 4B HRHEER U T|BRHBRRUT[RERFRLUT 41 5.8 5.6 FE | 2-BSmStEERE = 4RADIQFS200
roLoYD | IBEHA  [Feesssaisa| RERRUT|REERUT|RERREUT 3.9 6.1 5.2 HE | 2-ASKsTARIEE=ZRADIQFS200
A Foth N |Fresmense| RHBRU T RHEBERUT|RHEBERUT 40 5.5 5.0 HE | 1-BRKETAREE=2RADIQFS200
Fal iy | FrosseAisB| RHEBRUT[RERRLUT|RHEERUT 4.1 6.0 5.4 HE | 2-&KETEER EE=ZRADIQFS200




J0Ovyal)— |iREhEKhA | Fresease| RHBRUT[RHERUT|RHERUT 4.4 6.3 5.7 B | 1-BSRSEERE E=2RADIQFS200
FrRY  |EREAEKHA| Frosaeasa | RHR R U T|REBERUT[HRHRBRRLUT 4.1 5.6 5.3 B | 3-BSRSTEER T £=4ZRADIQFS200
X EAMA |Frzsreniea[ RHEBRUT|BRHEBRUT[REBRUT| 250 7.0 6.0 B3t | 1-CAPTUS-3000AR & & SRS REAIELE
JOvyal)— | WEMRA  |FhesseAen| RHBRUT[RHERUT|RHERUT 40 5.5 5.3 HE | 4-BSIKETAEIEE=ZRADIQFS200
AFYTIVEY| FRiRMA  [Freszeaca[RHERRLUT|RHBRREUT|RERERUT| 250 8.0 7.0 B3 | 1-CAPTUS-3000ABI & R RATRERI R E
FFIaIVF| KRR [Frsseaea[RHERUT|RHEBRUT|RHERUT 5.3 8.2 6.6 HE | 4-BKKETEEREE=ZRADIQFS200
FrRy Ethh N | FreseeAen| RHBRRUT[HRHERUT|RHERUT 40 6.2 5.6 HE | 2-BSKsTAERIEE=4RADIQFS200
OXHAE EHhA  |Frzswensn| RHERUT[RHEBREUT|BRHERLUT 4.0 5.7 5.1 HE | 1-BRKETEEREE=ZRADIQFS200
k< Kithih [N | FeisseAB| RHBRUT|RERFLUT|HREERUT 4.3 6.3 6.0 % | 2-BSKEEEIE E=4RADIQFS200
SXFXR TERRHI N | FErsseA7B| RHEERUT|REERUT[RHBRUT 25.0 7.0 7.0 B33 | 1-CAPTUS-3000AZ! & R S ATAE IR S B
2 )amFR| TERMA  [Fressea 7B RHEBRUT[HREERUT|RHERRUT 25.0 7.0 7.0 % | 1-CAPTUS-3000AR & & S ST RE R R i B
Fal KA |Fresem2iB| RHBRUT[RHERUT|RHERUT 5.0 7.0 6.2 HE | 1-BSKsTAERIEE=4RADIQFS200
ATy WMEMR  |*Fsssa2a| RHBRFRUT|REBERUT[HRHRBRLUT 3.9 55 5.1 BE | 4-BRKETEEEEE=SRADIQFS200
DI WMEHR  |Fesssa2a| RHBRFRUT|RHEERUT[HRHBRLUT 4.0 5.9 5.3 BE | 1-BRKETEEEE=2RADIQFS200
EOvaAUF | FRERHIAN | Fresser2 8| REBBRRUT[HREBRUT|REBRUT 4.1 6.0 5.2 HE | 4-BSKsTAERIEE=SRADIQFS200
TR AT |Freszem2 B[ RHBRUT|RERRUT|[HRERRUT| 250 7.0 7.0 T3 | 1-CAPTUS-3000AE & & AT AL AR L

B /aA(Hh5%54)| BREIEMA [Feessca2a[RHERRLUT|RHEERUT 6.0 3.9 5.9 4.7 A4 /%8| 1-B S KETEEEIE E= RADIQFS200
avxy JIEHA  |FrosseA2a| RHBRUT[RERRLUT|RHEERUT 40 5.9 5.4 FE | 1-BSmETEER T = 4RADIQFS200
TIL—AR)— [ KIEBETHh A [Frersasa|@HERUT|RHEBRUT|RHERUT 4.2 6.1 5.9 i | 2-BRKETEERIEE=2RADIQFS200
ATy AIRBTHE A |Fresem2n| RHBRUT[RHERUT|RHEBERUT 42 6.0 5.1 HE | 1-BSKsTAERIEE=SRADIQFS200
TR Kithih [N |FrizsweR2sa| RHBERUT|RERFRLUT|HREERUT 4.0 5.7 5.2 % | 1-BSKREEEEE E=4RADIQFS200
INDF— HERMMA |FrsseAsa| RHBRUT|RERFLUT|HREERUT 4.6 7.1 6.6 FE | 4-BSMEtEERE = 4RADIQFS200
Fal AIERETHO A | Frzssom2ra [ RHBR R LU T|RHEBERUT[HRHBRRLUT 3.8 5.5 5.0 HE | 1-ASKsTAERIEE=SRADIQFS200
FTHFX TEBRHI N | Frssea27a| MHERUT|REBERUT[RHBRRUT 25.0 8.0 7.0 B33 | 1-CAPTUS-3000ARI & & S EE I R E
ATy WMEHA  |Fesssara| RHBRFRUT|RHEERUT[HRHBRLUT 3.8 5.8 48 HE | 2-ASKsTAERIEE=4RADIQFS200
X AIERETHO A | Frizssom2a [ RHBR R U T|RHEBERUT[HRHRRLUT 3.8 5.3 5.0 24 | 4-BSIKsTAERIEE=FRADIQFS200
AIRFE AIERETHO A | Frizssom2sn | RHB R LU T|RHEEBRUT[HRHRBRRLUT 42 6.0 5.5 HE | 1-ASKsTAERIEE=FRADIQFS200
X HERMMA |FrsseRsa| RHBRUT|RERFLUT|HREERUT 41 5.9 5.2 248 | 2-BSmkStEER T E=4RADIQFS200

X INAHMR | FrosseAsB| RHBRUT[RERRLUT|RHEERUT 3.8 5.7 5.1 24 | 1-BSKsTAERIEE=4RADIQFS200
A WERA | FrszeAsa|RHERERUT|RHEBRRUT[HRERFELT 4.4 5.7 5.7 BE | 2-BRKEEEEEEZ FRADIQFS200
AIRFE WEHA  |[FreszeasaRHEBRUT|REBRUT|[REERUT 4.7 6.6 6.1 % | 3-ARmETEER EE=4RADIQFS200
k< LEEHh N | Faosseana| RHBRFRUT|RHEERUT[HRHBRLUT 4.2 6.0 5.4 FE | 3-BSmStEERE E=4RADIQFS200
R KRBT HO N | FreseAzon| R HER U T|BRHBRRUT[HRERFELUT 4.2 6.2 5.4 % | 4B SR8 EE=4RADIQFS200
HRF+v =#HhN  [FresseAson| RHERUT[RERRLUT|RHEERUT 4.4 6.1 5.6 HE | 1-BSmkSEEE = 4RADIQFS200
hoEODY | REMA |Fassraia[RERFRUTRERRUT[RERE LT 4.0 5.7 5.2 HE | 1-BRKETEER EE=ZRADIQFS200
TIL—AR)— | EORHA [Foeszaia|RHBRRAUT|REBRUT|HRHERRUT 4.1 5.7 5.5 28 | 2-BSHkStEER T = 4RADIQFS200
FoEODS | BEMA  [Frssa e[ RHEEBRUT|[REBRUT|RHEBRUT 3.8 5.6 5.0 B | 2-& K METEER EE=SZRADIQFS200
kHyEQODD hyAth N | FrsErA4a [ RHBRUT|RHEERUT[HRHBRRLUT 41 6.0 5.7 FE | 1-BS kS8 T £=4RADIQFS200
FTANRAFR)| TEBEHA | Friss7 A48 | REBRUT[HRERRLUT|REERUT 4.3 6.3 5.7 HE | 2-ASKsTARIEE=ZRADIQFS200




A hETHIN | FeizssrA48|[RHBRREUT|REBERUT[HRHRBRRLUT 42 6.2 5.7 £ | 2-BSkEHEER T E=4RADIQFS200
X AEBETHL A | Frizs7A48 [ BRHBRRUT|REBERUT[HRHRRLUT 42 6.2 5.5 B | 2-BSKEsTARIE E=ZRADIQFS200
-y AIEBETHL A | Frizs7A48 [BRHBRRUT|REBRUT[HRHRRLUT 42 6.1 5.2 B | 3-BSRSHEER T £=4RADIQFS200
HRFy  [FREFEKMA|Frssrase [RHBRUT|RHEBRUT|RHERUT 4.4 6.2 5.6 B | 1-BSRSEER T E=ZRADIQFS200
Uxfi1EEs7H| HRIEHA [FressrAse | RERRAUT|REBRUT|HRERFEUT 4.2 6.1 5.6 HE | 4-BKETEEREE=SZRADIQFS200
SYAAEM—F)| BRIERA | FroserAsa [ RHEBRUT|REBRFEUT[RHEEBRUT 4.1 6.1 5.3 HE | 2-& K KETEER EE=ZRADIQFS200
TR FARIEH A | Frizex7858 | RHBRFUT|REBRRUT[HRHRBRRLUT 4.6 6.3 6.0 FE | 3-BSmStEEREE=4RADIQFS200
X hETHh A [FaosgrAen |[RHBRUT|REBRKAUT[RHEERUT| 250 8.0 7.0 B | 1-CAPTUS 3000AZ & B S MATRE AT B E
FOEOOY | WEHA | FrssAcE | RHEBRUT[HRERRUT|RHERUT] 250 7.0 7.0 E7% | 1-CAPTUS-3000AR/E RS KAt HE AR EE
OXHAE | HAFRMA |Frssaea | RHBERUT[RHERUT|RHERUT 4.0 5.4 5.0 FE | 4B 2S8R %E = 4RADIQFS200
Fal HERMA |Frssraen | RHEBRUT[RERRLUT|RHEERUT 4.1 6.0 5.7 HE | 2-BSKsTAERIEE=4RADIQFS200
ATy JLEh N | FassrAen | RHBRUT[RHERUT|RHERUT 43 6.1 5.3 HE | 1-BSKsTAERIEE=4RADIQFS200
HiRFr E#hA [ FresAe|REERUT[RERRLUT|RHEERUT] 250 8.0 7.0 BE | 1-CAPTUS-3000AR & RS METRERIE 2 E
d EERHMA | Fress7A7E | BRHRBRUTRHBRAUT|BEHERUT|  25.0 7.0 7.0 FHx [ 1-CAPTUS-3000AR! B R S M RENEEE
X hETHMA | FResarAsE[RERERUT|RHEBRRUT[HRERFELUT 4.2 6.1 5.5 28 | 2-BSKEEEE E=4RADIQFS200
FoEODY | XEEBTHA |FressrAan e[ HREERUT|RHBERUT[RERFELUT 3.9 5.4 4.9 % | 1-BSKEEEEE E=4RADIQFS200
754 HERMA |FressrAnB| RHEBRUT[HRERRUT|RHEERUT 3.6 5.1 46 28 | 1-BSmkStEER T = 4RADIQFS200
FMEESOD)| REBETHMA |Fr2sa7A 18| BRHERRUT|REBRRLUT[HREERUT 3.6 5.5 45 % | 3-BSREEEEIE E=4RADIQFS200
OXHAE | REBTHA |Fress g RHEBERUT[RHEERUT|RHERUT 40 6.0 5.5 FE | 1-BSETEER T = 4RADIQFS200
HRFr BT HO N | Fri2sa7A 1B BRHERRUT|REBRLUT[HREERUT 4.2 6.2 5.5 % | 1-BSKREEEEE E=4RADIQFS200
AIRFE AIRBTHE A |Fresm B RHBRUT[RHERUT|RHEBERUT 40 5.8 5.4 HE | 3-BSKsTAERIEE=SRADIQFS200
oLV | SERMA  [Feessrana| RERRUT|REBERUT|RERREUT 4.4 6.0 5.9 HE | 4-BSKsTAERIEE=SRADIQFS200
FrRy RRIEHPA |Fassrane| RHBRFRUT|REERUT[HRHBRRLUT 3.8 5.7 47 HE | 1-ASKsTAERIEE=SRADIQFS200
AT RN [FrssrAaRHRBRUTHRHER T RERRLT) 250 9.0 8.0 FR | 1-CAPTUS-3000AR! & R % IR 4T HE B 26 1
Fal HERMA |Frssrara| RHERUT[RERRLUT|RHEERUT 40 5.7 5.0 HE | 1-ASKsTAERIEE=SRADIQFS200
EEFTAHYF)| KA [Fressrgea|RHEBRRUT[HREERUT|RHERUT 40 5.9 5.2 248 | 4-BSmStEER T E=4RADIQFS200
EEUNIERD)| Kithih g [Fressraea| RHEBRRAUT|REBRUT|RERRUT 3.8 5.5 48 24 | 3-BSKsTAERIEE=4RADIQFS200
<k WMEHA  |Fassraee| RHBRRUT|RHEERUT[HRHBRLUT 4.0 55 4.8 BE | 1-BRKETEE8EE=2RADIQFS200
Fal WMEHA  |Fassrgee| RHBRRUT|RHEERUT[HRHBRLUT 40 5.9 5.1 HE | 4-BSIKsTAERIEE=SRADIQFS200
FoEOOY | WMEHA  |FressrA | REBRUT[HRERRLUT|REERUT 3.3 4.6 42 HE | 2-BSmStEERE = 4RADIQFS200
HiRF¥ WMEHR  |Frssraee| RHBRRUT|REERUT[HRHBRLUT 3.9 5.4 5.3 HE | 1-BSmkSEEE = 4RADIQFS200
IFIA PR |FrossTAE|RHEERUT[RERRUT|RHEERUT] 250 8.0 7.0 B | 1-CAPTUS-3000AR/ & @ S RAH LRI 8
EE Kithih [ |FeizserAa| RHBRUT|RERFRLUT|HREERUT 4.2 5.9 5.3 B | 3-BRMETALEIE EZ FRADIQFS200
INFIY Kithih [N |FeizssrAa| RHBRUT|RERFLUT|HREERUT 4.1 5.9 5.0 mEMIY| 1-8 &R RSTEER £ ZRADIQFS200
751 J\IRETHIA | TrssE7A138E — RHEBRLUT|RERFUT — 5.3 47 L FE 6-NDA
v HAE BETHN | Frssrane| RHBRRUT|REERUT[HRHBRLUT 4.1 5.9 5.4 % | 3-BSREEEREE=4RADIQFS200
TR RERRTHO N [ Fress7A e[ RHEER U T|RHBRRUT[RERFELUT 45 6.8 6.2 % | 1-BSREEEREE=4RADIQFS200
HRFrORyFYL)| IRBEHMA | FrssrAvE[RHEBRUT|RERFEUT[RHEERLUT 3.8 5.5 4.7 HE | 1-BRKETEER EE=ZRADIQFS200
J—¥ AN |FaessrAsE | RHEBRUT[RHEBRUT|RERERUT 4.7 6.4 6.2 HE | 1-BKKETEER EE=ZRADIQFS200




pyeoavo=—svss)|  WNEMIA [FeessrAsE[RHERRUT|RHBRREUT|[HRERERUT 4.1 6.2 5.5 B | 2-BSREEER T E=4RADIQFS200
tonavE—ksyya | J\IBETHO A |Fress7A 8| RHBRUT[RERRLUT|RHEBRUT 25.0 6.0 6.0 BFE | 1-CAPTUS-3000A%! & R & Mgt ALl R 518
d RIEHA  |FrossrA 58| RHEBRUT[RERRLUT|RHEEBRUT 42 5.9 5.3 B | 2-BSREEER T E=2RADIQFS200
V) HERMA |Fresrasa| RHEERUT|REERUT[HRHBRRUT| 250 8.0 7.0 B33 | 1-CAPTUS-3000AR! & R ATRERAI R E
E—<> AIRATHO PN | Frioser A58 | RHBR R U T|REBERUT[HRHRBRRLUT 3.8 5.8 5.3 % | 2-BSKEEEEIE E=4RADIQFS200
Fal FETHMA | FaossrAsE[RHEBRUT|RHBRRUT[HRHERUT| 4.0 5.7 5.0 HE | 2-& K KETEER EE=ZRADIQFS200
VILLSY X | FETHA  |FressAsE RHEBRUT|REBRFEUT[HRHEERLUT| 250 10.0 9.0 EJ | 1-CAPTUS-3000AR! B R F At A AIE 26 B
AIFRFE FETH A | oA B[ RHERUT|REBRRUT[HRHERLUT 4.1 6.0 5.5 HE | 1-BSKsTAERIEE=4RADIQFS200
OXHAE | ERIEMNA |Frss A RHEBRUT[RHERUT|RHERUT 42 6.1 5.4 HE | 1-BKKETEEREE=ZRADIQFS200
FoEODY | KARMA |Fressraoa| RHEBRUT[HRERRLUT|RHEERUT 42 5.8 5.7 HE | 4-BSKsTAERIEE=SRADIQFS200
HRFx FARIEH A |Fassra08| RHBRFUT|REBRRUT[HRHRBRRUT 3.9 55 5.5 % | 3-BSKEEEIEE=4RADIQFS200
<k FARIEH A |Fassra08| RHBRFUT|REBRRUT[HRHRBRRLUT 45 6.7 5.7 BE | 1-BRKETEEEEE=2RADIQFS200
TR RRIEHA |Fassrae| RHBRFUT|REBERUT[HRHBRRLUT 4.4 6.3 5.5 % | 3-BSKEEEIEE=4RADIQFS200
HRF¥ PR |FrossTA 98| RHBRUT[RERRLUT|RHEERUT 45 6.3 5.4 HE | 1-BSKsTAERIEE=SRADIQFS200
HRFr ABTHO A | Fri2sx7R198| BRHRRUT|RHEBRLUT[HREERUT 3.9 5.6 4.9 % | 1-BSKREEEEE E=4RADIQFS200
TR ABTHO N | Fri2sx7R198| BRHRRUT|RHEBRLUT[HREERUT 4.0 6.4 5.3 % | 4+-BSREEEE E=4RADIQFS200
e ABTHO A | Fri2sa7R198| BRHRRUT|RHEBRLUT[HREERUT 4.0 5.9 5.2 % | 2-BSREEEEE E=4RADIQFS200
OXHAE | RERTHA |Fressraoe| RHBERUT[BRHEERUT|RHERUT 3.8 5.4 48 FE | 1-BSmETEER T = 4RADIQFS200
EONAY WMEHA  |Fassrgne| RHBRRUT|REERUT[HRHBRUT 4.2 6.5 5.8 BE | 2-BRKETEEEE=2RADIQFS200
TR WMEHA  |Fassrane| RHBRRUT|REERUT[HRHBRLUT 4.0 5.5 5.2 % | 1-BSKREEEEE E=4RADIQFS200
HRF¥ Fotih N | Taessraoa| BHBRUT[BERREUT|RHBRUT 3.8 5.5 5.0 HE | 3-BSKsTAERIEE=SRADIQFS200
ATy AL | FRsErA2oE [ HRHERERUT|RHBERUT[HRERFELUT 4.0 5.8 5.3 % | 3-BSMREEEREE=4RADIQFS200
OXHAE AL | FRsErA2oE [ HRHEERUT|RHBERUT[HRERFELUT 3.8 5.7 5.1 FE | 3-BSmStEERE E=4RADIQFS200
AyvF—= AL | FRsErA2oE [ HRHERERUT|RHBERUT[HRERFELUT 4.0 5.8 4.6 BE | 1-BRKEEEHEEEZYRADIQFS200
OXHAE FAMA  |Fass A28 | RHBERUT|RERFLUT|HRERERUT 25.0 7.0 6.0 BF% | 1-CAPTUS-3000AR! & & ST RE R R i B
OXHAE i N | EeessrA2B[RHBRRUT|RHEERUT[HRHBRRLUT 4.3 5.9 5.8 HE | 3-ASKsTARIEE=4RADIQFS200
AIRFE EQ LA |Frssrae2a RHRBRRUT|REERUT[HRHBRRLUT 4.3 5.9 5.5 HE | 1-ASKsTAERIEE=FRADIQFS200
DY HAE FAMA |FressrAza| RHEEBRUT[RERRLUT|RHEERUT 4.3 5.8 5.6 HE | 2-ASKsTAERIEE=4RADIQFS200
J—% HERMMA |FrssA2a| RHBRUT|[RERFLUT|HREERUT 41 5.7 5.7 HE | 2-BSmStEER T E=4RADIQFS200
E—<> HERMNA |Freszrazsa| RERAUT[HREHBRUT|RERRAUT 45 6.2 5.9 % | 2-ARmETEER EE=4RADIQFS200
AN HERIMMA |FrssrA2s8| RERRUT|REERUT[HREBRRUT 4.0 6.2 5.6 % | 3-BSKREEEREE=4RADIQFS200
1F3X J\IBATHW A | Fr2ss7A258| BRHRRUT|RHEBRLUT[HREERUT 3.6 5.2 46 #PK | 1-B RS8R E E=4RADIQFS200
k< FERIEH A |Frossra2e| RHBRFRUT|RHEERUT[HRHBRLUT 41 5.8 5.2 FE | 3-BSmStEER T E=4RADIQFS200
Fal FRIEH A |Frssra2e| RHBRFRUT|RHEERUT[HRHBRLUT 43 6.0 5.4 FE | 2-BSmStEERE = 4RADIQFS200
239Ah hi A [FrossrAzea[RHEBRUT|RHEBRRUT[HRHEERLUT 4.3 5.6 6.0 HE | 3-ASKsTARIEE=FZRADIQFS200
DYHAE | B A [FeessrAze| RHERRUT[RHEBRUT|RHEERLUT 4.2 6.2 5.1 % | 2-BSREEEREE=4RADIQFS200
BAIRE = E A |FessrA2 8| RHBRUT|RERFELUT|HREERUT 43 6.1 5.8 % | 4-BSREEEREE=4RADIQFS200
R hALH N |FressrA B[ RHBRUT|RHEERUT[HRHBRRLUT 3.8 5.6 5.5 FE | 4-BSMSTEERE = 4RADIQFS200
TARDAHSL | LA [Frossrasa[RHBRRUT|RHEBRUT|RHBRUT 4.3 6.1 5.5 HE | 1-BKKETEER EE=ZRADIQFS200




Fal AIEBETHO A | FroserAzsen [ RHBRRUT|REBRUT[HRHERRLUT 40 6.0 5.0 HE | 1-BSKsTAREE=ZRADIQFS200
Nl rd s Kt | FroserAse| RHEBRUT[RERRLUT|RHEEBRUT 41 6.0 5.7 B | 2-BSRSHEER T £=4RADIQFS200
E—<> AIEBETHL A | FroserAzon [ RHBRRUT|REBEBRUT[HRHRRLUT 4.0 6.2 5.7 % | 1-BSKEEERIE E=4RADIQFS200
OXHAE i N | EeessrA2oE[RHBRRUT|RHEBERUT[HRHRBRRLUT 42 6.4 6.0 B | 4-BSREEER T E=4RADIQFS200
IR hihh A [EeessrAeB[RHEBRUT|RHEBRRUT[RHERLUT 45 6.3 6.0 HE | 2-BSKsTAERIEE=4RADIQFS200
V) FARIEHA | FressrA2n REBBRAUT|BRHBRUT[HRERFEUT| 250 8.0 7.0 T3 | 1-CAPTUS-3000AZ & & AT AL AR LB
HRF¥ HERMMA | Frsasf 8| RHBRUT|REBRFLUT|HREERUT 46 7.1 6.1 FE | 4B 2S8R %E = 4RADIQFS200
o5 AL | Faesssp A [HREERUT|RHBRUT[HRERFREUT 4.4 5.6 5.6 FE | 2-BSmEtEER T E=4RADIQFS200
o5 WMEHA | Fozsssa 8| RHBRRUT|REBERUT[HRHBRLUT 4.1 6.0 5.6 HE | 1-BSKsTAERIEE=4RADIQFS200
OXHAE SRR | FrizswsA4n [ RHBRRUT|REBERUT[HRHRBRRLUT 4.4 6.4 5.5 FE | 2-BSmEtEER%E = 4RADIQFS200
TIL—AR)— | HERMA [Frswsaa|[RHERUT|RHEBRUT|RHERUT 41 6.0 5.6 248 | 4-BSmEtEER%E = 4RADIGFS200
d—¥ JLEh N | FasesAsE | RHBRUT[RHBERUT|RHERUT 42 6.3 5.2 HE | 1-BSKsTAERIEE=4RADIQFS200
Nl Sl JLEHh N | FazsesAsE | RHBRUT[RHERUT|RHERUT 4.1 6.1 5.3 HE | 1-BSKsTAERIEE=4RADIQFS200
HRFr WMEHA | Frzsssasa | RHBRFRUT|REERUT[HRHBRLUT 4.3 5.6 5.6 HE | 2-BSmStEER T E=4RADIQFS200
AAH WMEHR | Frzsssasa | RHBRFRUT|REERUT[HRHBRLUT 5.5 7.2 6.4 % | 2-BSMREEEE E=4RADIQFS200
= FAMA | FrsrsAss | RHEBRUT[RERRLUT|RHEERUT 4.1 5.8 5.4 % | 4+-BSREEEE E=4RADIQFS200
FoEODS | FEEhA [FriessAsa | RHBRUT|[REBRUT|RHEBRUT 4.2 6.3 5.7 B | 1-BKKETEER EE=ZRADIQFS200
SRINTH)| FBTHMA | FasssAon |[RHBRUT[RERRLUT|RHEERUT 4.2 5.9 5.5 FE | 4-BSmMETEER T E=4RADIQFS200
SThYNEAD)| FATHA  [FRosssAon [RHERRLUT|BRHBRRUT|REERUT 4.3 6.1 5.5 HE | 2-BSmStEER T E=4RADIQFS200
XAy | BRIERA [Freszspoa[RHRAUT|RHBRUT|RERERUT 4.1 6.2 5.1 HE | 1-BSKsTAERIEE=SRADIQFS200
Fal hiL A [FresssAoB[RHEBRUT|RHEBRRUT[RHERLUT 4.1 6.0 5.0 HE | 1-BSKsTAERIEE=4RADIQFS200
SRINTH)| HERMMA |Frszsf 2| RHERRUT|REBRUT[HREERUT 42 6.1 5.2 HE | 2-BSmEtEER T E=4RADIQFS200
230Ah TR |Fresss | REBRUT[REBRUT|REBERUT|[ 250 8.0 7.0 T | 1-CAPTUS 3000AR & G S MATRE I B E
Hn) thHE RN |TRzesA2E — REBRLUT|RERFUT — 6.2 5.2 24 6-NDA
230Ah hAAEHh A [FrcsssAa[RHBRUT|RERFUT[HRHEBRLUT| 250 13.0 12.0 T | 1-CAPTUS 3000AR & G S MATRE I B E
FOEODY | EHMA  |FresssAza| RHEBRUT[HRERRLUT|RHEERUT 40 5.7 5.1 HE | 2-ASKsTAERIEE=FRADIQFS200
R FETHON | FrisssAza| RHBRFRUT|RHEERUT[HRHBRLUT 4.1 5.8 5.3 HE | 1-ASKsTAERIEE=FRADIQFS200
OXHAE FETHM A | FroswsAB[RHEBRUT|REBRUT[HRHERLUT 4.3 6.1 5.7 B | 2-B K METEER EE=ZRADIQFS200
HiRF¥ FETHON | FriosssAza| RHBRFRUT|RHEERUT[HRHRBRUT] 4.0 6.3 5.4 HE | 4-BSKsTAERIEE=SRADIQFS200
T+ FETHON | FrisssAz2a| RHBFRUT|RHEERUT[HRHBRLUT 4.2 6.1 5.0 HE | 2-BSmStEERE = 4RADIQFS200
Pl =% WERA | FrsssA2e|RHEERUT|RHEBRRUT[HRERFELUT 4.5 6.1 5.7 BE | 4-BRKEEEEEEZ FRADIQFS200
IFIA FE/\IBHh A |Fresmspun| RHBRUT[RHEERUT|RHERUT|] 250 8.0 7.0 B | 1-CAPTUS-3000AR & R S MATRE AT EE
v HAE IBEHAN | Frsssasa| RHBRUT|RHEERUT[HRHBRLUT 3.9 5.7 5.1 FE | 3-BSmStEER T E=4RADIQFS200
IOV | HERMA [Frosssasa|RHBRUT|REBRUT|HRERRUT 43 5.8 5.5 FE | 2-BSmStEERE = 4RADIQFS200
EOANAY | HilimHh A | FrosssAsa | RHEBRUT[HRERRLUT|RHEERUT|] 250 8.0 7.0 B | 1-CAPTUS-3000ARI & @ S RAH LRI 8
—>=7 AR A [FRrsssAsa[RHERRLUT|RHBFRUT[REERLUT| 250 8.0 7.0 B | 1-CAPTUS-3000AR/ & @ S RAH LRI 4B
"I??"’V hARh N | FRsssAzeE| RHEER U T|RHBRRUT[HRERFELUT 4.0 5.9 5.4 % | 1-BSREEEREE=4RADIQFS200
HRFv LN | FrosssA2oB | BRHBRUT|REBRUT[HRERFRLUT 4.0 6.1 48 HE | 1-ASKsTAEIEE=ZRADIQFS200
FARY  |EREAEKHA| FrizsxoAen | RHBRUT|REBRUT|[HRERRUT 4.0 5.7 5.0 HE | 1-ASKsTARIEE=ZRADIQFS200




EXD)/23R | MR | FeesgoRoE | BRHERRUT|REBRRUT[HRERERUT 8.4 13.9 10.5 1-B & M5THE I £ = ZRADIQFS200
HYILE EEAHA | FrizssoAon |[RHBRUT[RERRLUT|RHEEBRUT 42 5.6 5.7 2-2 SRS 82381 E £ = ZRADIQF S200
FogoHA | JIR#A  [Feessiarea[RHERRUT|RHBRRUT[HRERERUT 4.0 5.7 5.5 2- 8 & ST AE R E £ = ZRADIQFS200
OXHAE LA | FResseR 2B HRHEERUT|RHBRRUT[HRERFEUT 41 5.5 5.2 2-2 S RS 82381 E £ = ZRADIQF S200
X JIEHA |Freswonca RHBRUT|EHERUT[RHEBERUT 4.0 6.0 5.6 3-8 B 151 B3I % £ = ZRADIQF S200
NGB A b |FEressomca[ RHBRRUT|RHEBERUT[HRHBRRLUT 3.8 5.6 5.2 4-B & 5T HE R £ = ZRADIQFS200
2') FETHM A | FrossoR2oB [ RHBRUT|MREBREUT[HRHEERUT| 250 7.0 7.0 1-CAPTUS-3000AR! & & S KA1 AL R E 25
HYRAE R |FaossoAen| RHBRUT[HRERRLUT|RHEERUT] 250 7.0 7.0 1-CAPTUS-3000A%! & & % TSt AL Rl FE 46 18
INY R hiLHh A [FErosroAzea[RHBRUT|RHEBRRUT[HRHERLUT 3.9 5.5 5.1 1-8 B 15T 868 7 £ = ZRADIQFS200
ROy | REETHIA |Froseofzen| RHBRUT[RERRLUT|RHEBRUT 4.6 6.3 6.1 2- B B ST RE R 5 £ = #RADIQFS200
HYIALE | HERMMA |Frszonea| RHBERUT|RERFUT|HREERUT 4.0 6.1 5.4 3-8 SRS A5 E £ = ZRADIQFS200
INTFYHX | HERMA |Fressoa2n| RHEBRUT[HRHERUT|RHERUT 40 5.5 49 2-B & 5T HE R £ = ZRADIQFS200
1F29 SEORHMA | FaosoAzB[RHBRUT|REBRRUT[RHERLUT 4.6 6.6 6.2 1-8 B 15T BERI 7 £ = ZRADIQFS200
HrME JLEH A |FressoAra| RHBRUT[RERRLUT|RHEERUT 45 6.2 5.7 4- B B W4T AE B T £ = #RADIQFS200
\NYERDY) JbiEHh A | FaessoRa| RHEBRUT|BHERLU T BEERUT 41 6.2 5.5 3-8 S S BE8I E £ = #RADIQFS200
=D AL | FResssR B IRHBRUT|RERERUT|REERLUT 3.9 6.1 5.3 3-5 B g1 AR £ = 4RADIQFS200
LAX AL | FRsseR B[ HRHERERUT|RHBRRUT[RERFEUT 4.1 55 5.7 4-F5 B gTAER T £ = 4RADIQFS200
HK-1 =iy |FresmoAz7 B | RHBRRUT[RHERUT|RHERUT 3.9 6.0 5.2 2- B B ST RE B 5 £ = #RADIQFS200
ZK-2 =fadhN  |[FresweAa| RHEBRRLUT|BRHEBRUT|EEERUT 4.1 5.9 5.3 3-8 5 U BRI 7 £ = #RADIQFS200
%K-3 =R |Eezsson | RHERUT|[RHEBERUT|BHEERLUT 3.8 6.1 5.2 2- B B 151 B 1 7 £ = ZRADIQF S200
ZK-4 =fadhN  |[FrsweAa| RHEBERLUT|BRHBRUT|EEERUT 3.7 5.9 5.5 1- B B 15T 88381 E £ = #RADIQFS200
%K-5 =iy |FreswoAz7 B | RHBRUT[RHERUT|RHERUT 4.0 6.0 5.4 4- B B 15t 1 7 £ = ZRADIQF S200
% K6 =N |FezsgoAB| RHRRLUT|[RHEBRUT|REERUT 4.1 6.1 5.3 3-8 B U B 5 £ = ZRADIQFS200
roLI YD | HBAMA | FressAsa| RHERUT[RERRLUT|RHEERUT 40 5.7 48 3-8 & M5 AE R £ = ZRADIQFS200
AFTD RAMA  [Frossonsa| RHBRLUT[HREERUT|RHBRRUT|] 250 7.0 6.0 1-CAPTUS-3000AR/ & & S it BRI 5 8
FrRy MERA  |FrssoAoa RHBRUT|REBRFREUT[RHEEBRLUT 4.6 6.8 6.0 2-B B IR STHE R 5 £ = ZRADIQFS200
Y/ FARIEHA |Frsson2n| REBRUT[REBRUT|REBERUT 6.0 7.9 7.6 1~ S ST AE 8 £ = ZRADIQFS200
T34 R [Fressomsa|RHERUT|RHEBRUT|RHEERUT 3.9 5.3 47 -8 R AT AE 8 7 £ — ZRADIQFS200
% K-T =N |FezssioRE| RHERRLUT|[RHEBRUT|REERUT 3.9 5.8 49 1-8 & WRSTHE R £ £ = ZRADIQFS200
% K-8 =N |FeossosB| REBRUT|[BRERRUT|RHERERUT 3.9 6.0 5.7 2~ & R TRE R E E = ZRADIQFS200
% K9 =#h  |FressoAsB| RHEERUT[HRERRLUT|RHEERUT 4.0 6.2 5.3 4-F5 B ST AE R E £ = #RADIQFS200
% K-10 =#Hh  |FessoAsB| RHEERUT[HRERRLUT|RHEERUT 3.8 5.4 4.8 3-£ B ST AR E £ = #RADIQFS200
FoIHOZ/3)| Kty |[Fressi084m — RHERREUT 25.6 — 5.5 5.0 7-NDA
SIIAE | FB/\IERN [Fressomsa | BHBRUT[RERRUT|BERREUT 4.4 7.0 6.0 3-% & MUt AEBI 5 £ = #RADIQFS200
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—oy HEAFMA |FressiaaeBHBRUT|REERUT[HRHBRRLUT 4.1 5.4 5.2 BE | 2-B&RKETEEREE=2RADIQFS200
HrME WERA |FrssipeREERUT|RHEBRRUT[HRERFELUT 43 6.1 5.6 FE | 3-BSmStEER T E=4RADIQFS200
FrAy E#hAR  [Frssipa| RHEERUT[RERRLUT|RHEERUT 4.4 6.0 5.6 HE | 2-ASKsTARIEE=ZRADIQFS200
=D ERTH A |Frossnm2e [ RHEBRUT|REBRREUT[HRHEERLUT| 45 5.8 5.3 % | 3-ARmETEER EE=4RADIQFS200
T7RAX B A |wassiAza REBERUT|RERRUT[REREUT| 44 6.6 5.8 $88 | 2-B R MRETEERIE T = SRADIQFS200
HhE SRR | FreesiiA2e | RHBRUT|RHEERUT[HRHBRLUT 3.9 6.2 49 HE | 3-ASKsTARIEE=4RADIQFS200
XOA7)L—Y| KEBTHA [Frossipza| RHBERUT[REBRUT|REERUT 3.9 5.9 5.3 B4 | 1-8 & eI E £ ZRADIQFS200




rHE HERMA |Frszipaue| RHEEBRUT[HRERRLUT|RHEERUT 4.4 6.7 6.2 gEmTy| 3-8 SHEsTAESEIEE=4RADIQFS200
FTH=UD | MEMA  |Frssnsee [ RHEEBRUT|REBFRUT[RHEERLUT 40 5.7 5.4 B | 2-BSRSHEER T £=4RADIQFS200
FO47)L—Y| BAFhFaMA [Freesipsa[RHERRUT|RHBRRUT|[HRERRUT 46 6.8 6.2 £ | 1-BSKEEER T E=4RADIQFS200
TRy |EREAEKH A FaeesiiAse | RHBRFRUT|REBRRUT[HRHRBRRLUT 3.8 6.4 5.6 B | 3-BSRSHEER T £=4RADIQFS200
INIY A | EREAEKH A FressiiAse [ RHR R U T|REBRUT[HRHERRLUT 41 5.6 5.5 FE | 2-BSmEtEER%E = 4RADIQFS200
=D AIBETHO PN | FreesiiAoen | RHBR R U T|REBRUT[HRHRBRRLUT 3.8 5.6 5.2 % | 4B K58 E E=4RADIQFS200
INgHA AIEBETHO A | FreesiiAoen | RHBR R U T|REBRUT[HRHRRLUT 3.9 5.6 5.1 % | 1-BSKEEEEIE E=4RADIQFS200
NGB A FETHON | FressiiAn | RHBR R U T|REERUT[HRHBRRLUT 3.9 5.9 5.2 FE | 2-BSmEtEER T E=4RADIQFS200
INIY A |EREAEKH A FressiiAson [ RHR R U T|REBRUT[HRHERRLUT 3.9 6.0 5.1 HE | 3-BSKsTAERIEE=4RADIQFS200
HhAE  [EREABKHA|FrossiAoB | RHBRUT[HRERRLUT|RHEBRUT 42 6.2 5.2 HE | 2-BSKsTAERIEE=4RADIQFS200
X3 RAFEMPA | s RHEBRUT|RHBRUT 13.0 25.0 7.0 7.0 EEE | 1-CAPTUS-3000AR! & & S HaTEE I R EE
a8 WMERA  |FresreaB[RHERUT|REBRUT[RHERLUT 4.1 6.3 5.3 HE | 1-BSKsTAERIEE=4RADIQFS200
OXHAE | HFAFERA |Fressra e RHEBRUT[RHEERUT|RHERUT 4.4 6.4 48 HE | 1-BSKsTAERIEE=4RADIQFS200
RHF ERMRAHA |Frsxi2asa| REBRUT|RHEBRUT|HREERUT 25.0 8.0 7.0 BEMIY| 1-CAPTUS-3000AR & & S ATRERIE &£ B
1EHS EIMAH A |Frossasa| RHBRFRUT|REBERUT[HRHBRRLUT 4.0 5.5 5.0 mEmIH| 2-& 8 KETEEEIEE=2RADIQFS200
HrME RFOANHA | Frzsxi2A568| RHRRUT|REBRLUT[HREERUT 4.0 6.3 5.3 BE | 4-BRKETEE8EE=2RADIQFS200
crOOAE RFONHA | Frzsxi2A568| RHRRUT|REBRLUT[HREERUT 3.9 5.7 5.0 BE | -BRKETEEEEE=2RADIQFS200
¥ RN A |Fresri2Ase| RHBRUT[RHERUT|RHEBERUT 44 6.8 5.9 HE | 3-BSKsTAERIEE=SRADIQFS200
1EHS RAANH A |Fresri2Ase| RHBRUT[RHEERUT|RHEBERUT 4.1 5.4 4.8 mEmIy| 3-8 S KETAERIE E=4RADIQFS200
RAFE RKFAMA |Frossi2asa[REBRUT|REBERUT[REBRUT| 250 8.0 70 |mEnzw 6-NDA
INIYA RN A |Fresri2Ase| RHBRUT[RHERUT|RHEBERUT 4.1 5.9 5.5 HE | 2-BSKsTAERIEE=4RADIQFS200
JYIF HERMMA |Frss2Aea| RHBRUT|[RERFLUT|HREERUT 4.4 6.4 5.7 HE | 3-BSmStEEREE=4RADIQFS200
=P IR |FrosseAen | RHBRUT[RERRLUT|RHERUT 3.9 5.7 48 FE | 4-BSmEtEERE = 4RADIQFS200
J0Oval— | FRKRHhA | FeessrAcE | RHBRUT[RHEBRUT|REERLUT 43 6.0 5.5 HE | 2-ASKsTAERIEE=4RADIQFS200
RHF HRIRHh N | Fressi2A6E — BRHEBRLUT|RHEERUT — 6.5 5.4 BEMIY 7-NDA
yAv A WEMA  |[FrezrhsaRHEERUT|REBRUT|[REERRUT 4.5 5.8 5.2 #85 | 2-B & METEERIEE=2RADIQFS200
1EHS WMEHA |Frssrasa| RHBRRUT|RHEERUT[HRHBRLUT 4.4 5.7 5.1 mEmTH| 1-BSKETEEEIEE=2RADIQFS200
INIHYA AERETHO A | Frizss2AsE RHBR R U T|RHEBERUT[HRHBRRLUT 3.9 6.0 5.3 HE | 1-ASKsTAERIEE=SRADIQFS200
LAh3d Ry | Frossrfon| RHEBRUT[RERRLUT|RHERUT 4.4 6.3 5.9 HE | 2-ASKsTAERIEE=SRADIQFS200
oy Kithith [ |Frizss2A98| RHBRUT|[RHEBRRLUT|HREERUT 4.1 6.1 5.8 2 | 3-BRKETEERIEE = 2RADIQFS200
HaT A i |Fressraoa| RHEBERUT[RERRLUT|RHEERUT 4.1 6.3 5.7 #858 | 3-BSMEEERIE £ =4RADIQFS200
DOYYFIA| Kty |FressirhB| REERUT[REBRUT|REERUT 4.3 5.8 5.4 58 | 2-A &S RIE E=ZRADIQFS200
rhE R |Fressaon| RHEERUT[RERRLUT|RHEERUT 40 6.0 5.4 gEmTy| -8 SHEsTAERIEE=SRADIQFS200
7AFx WMEHR  |Frsseha|RHBRRUT|RHEERUT[HRHBRLUT 3.8 6.0 5.3 #258 | 1-B SRS 8T £=4RADIQFS200
oAv A WEMA  |[FrezrraRHEEBRUT|REBRUT|REERUT 4.2 6.2 5.9 85 | 4-B SR METEERIEE=2RADIQFS200
INTYA WERA | Frsz2aE|RHEERUT|RHEBRRUT[HRERFELUT 41 6.1 5.1 % | 2-BSREEEREE=4RADIQFS200
R"AAE HEAFA | FassrAB[RHRBRRUT|RHEERUT[HRHRBRRLT] 250 8.0 7.0 B EMTY| 1-CAPTUS-3000A T/ &t B % HISTRE RITE 618
oy BEETHh AN |weoszi2A2e — BRHEBRLUT|RERFRLUT — 5.2 4.6 B 7-NDA
NIHYA Efh N |Fmessiaree | REREUT[RHEBRUT|RERERUT 4.0 5.6 5.0 HE | -BSMsTAEIEE=FRADIQFS200




INFIA BERIEHA |Fusseaea REBRUT|BHEBRUT[HRERFEUT| 250 8.0 8.0 B3 | 1-CAPTUS-3000AR A R BRI EEE
RUAFE FARIEHA |Frsseaa REBRUT|BEHEBRUT[HRERREUT 4.3 6.7 5.4  |gEmIn| 1-B8HK5EEHIEE=ZRADIQFS200
TFHAEHS | ARIEMA |Frossraes| RHBRUT[RHERUT|RHERUT 4.1 5.9 47 gEmTY| 3-8 5K EERIE E=4RADIQFS200
NGB A RRIEHA |Freesraen| RHRRUT|REBERUT[HRHRBRRUT 3.6 5.5 49 B | 1-BSRSEER T E=ZRADIQFS200
=P RRIEH A |Freesaen| RHRFUT|REERUT[HRHBRRUT 4.3 5.6 5.2 FE | 2-BSmEtEER%E = 4RADIQFS200
~OOAE RRIEHA |Fressraen| RHRBRFUT|REBRRUT[HRHRBRRLUT 4.2 6.0 5.8 % | 3-BSKEEEIE E=4RADIQFS200
=3 RAMA  |Froszreace | RHEBRUT[RERRUT|RHEERUT 40 5.9 5.2 FE | 3-BSmStEEREE=4RADIQFS200
=X+ REMA | Fressraue | RHBRUT|RERFLUT|HRERERUT 4.4 5.7 5.8 % | 2-BSKEEEIE E=4RADIQFS200
TAIA WERRA |Frssrace| REBRUT|RHEBRUT[RHEBRLUT 25.0 8.0 7.0 E4E | 1-CAPTUS-3000AZI & S S5 B ATRE IR B
HBARYFT /Y| HERMA [Fressraca|RBERRUT|HREERUT|REHBRUT 4.3 6.1 5.6 FE | 2-BSmEtEER%E = 4RADIQFS200
1EHS BEHA | Fressaue| RHBRRUT|REBRRUT[HRHBRLUT 4.1 5.4 4.8 sEmIY| 1-8HKR5EEEIE E=FRADIQFS200
ax ASERBTHE P | Fressi28168 — BREBRUT|RERRUT — 5.4 4.7 245 7-NDA
INgHA FETHON | *reseieasa | RHBR R U T|REERUT[HRHRBRLUT 4.1 5.6 5.1 % | 1-BSKEEEEIE E=4RADIQFS200
a3 A Kithih [N |Fressi2Ae| RHBRUT|RERFLUT|HREERUT 4.4 5.8 5.2 5 | 4-BSRETEERIEE=ZRADIGFS200
RoLYD | FORMMA |Frossiaee | RHEERUT[RERRLUT|RHEERUT 41 6.3 5.8 FE | 4-BSmMETEER T E=4RADIQFS200
FAX AILEEHI A | Frees A | RHBRFRUT|REBERUT[HRHRBRRLUT 4.5 5.6 5.9 3 | 2-B&RSTEERIEE=ZRADIGFS200
FAX BAFTER A [Fressrp2a[RHRRUT|RHBRUT|REERUT 4.3 55 49 5 | 3-B5KETEERIEE= FRADIQFS200
FAX AIEEH A | Frees A RHBRFRUT|REBERUT[HRHBRRLUT 4.3 5.6 5.0 3 | 4-BSRETEERIEE=ZRADIGFS200
FAX BAFTER A [Fressra2a[RHRRLUT|RHBRUT|REERUT 4.2 5.5 4.9 85 | 4B KETEERIEE= FRADIQFS200
ROy |EREABKIMA| Frossiazse | RHBRUT[RERRLUT|RHEERUT 4.8 6.9 6.5 HE | 2-BSmStEER T E=4RADIQFS200
FOOAE KEAHMN | Freszra.a| RHEBRUT|RHEBERUT[RHEBRUT| 250 7.0 7.0 B33 | 1-CAPTUS-3000AZ! & & S R ATAE IR S B
T+ FETHON | Fressieana | RHRRUT|RHEERUT[RERRLUT| 4.2 6.1 5.4 HE | 2-ASKsTAERIEE=4RADIQFS200
FOA47)L— FrETHA | FressAee | BRHERUT|RHEBRRUT[HRERFELUT 4.6 6.9 6.0 248 | 2-BSmkStEER T E=4RADIQFS200
T7AFx WEMA [Frssorea RHBRUT|[BREBREUTRHEERUT] 42 5.6 5.9 38 | 2-B S METEERE = ZRADIQFS200
IdvY WMEMA  |[Frssrasa[RHBRUT|RERRUT[RERREUT] 49 7.8 6.2 858 | 1-B&mETAERIEE=4RADIQFS200
FaoAE | BAF P A [Frsseaea|RHRRUT|RHBRUT|REERUT] 4.1 6.1 5.2 HE | 4-BSKsTAERIEE=SRADIQFS200
FAX FARIEHA |Fussraze RHEBRUT|[RHEEBERUT 5.1 4.0 5.5 4.9 558 | 3-B R METEERE T = ZRADIQFS200
FAX FARIEHA |Fassraze RHEBRUT|RHEERUT[HREERUT] 4.2 5.4 4.9 B8 | 1-B&MATAERIEE=ZRADIQFS200
FAX FRIGHA |Froszaze RHEBRLUT|RHEBRUT 5.3 4.4 5.7 5.1 ®5 | 2-B&MRATEEEEE= ZRADIQFS200
FAX KARMA | wrzszzara[BERBRUT|EHBRUT[REBRUT] 4.2 5.5 49 25 | 3-8 & METEERE = ZRADIQFS200
FAX PR |FaosseAaB | RHERUT[RERRUT|RHERUT] 4.3 5.5 5.0 #258 | 1-B SRS 8T £=4RADIQFS200
AR FARIEHA |Fusseaze REBRAUT|REBRUT[REBRREUT| 43 5.5 4.9 85 | 3-B & METAERIEE=ZRADIQFS200
FAX FERIEM A |wrzszraraBREBRUT|EHBRLUT[REBRUT] 4.2 5.5 49 28 | 3-B & MATEERIE = ZRADIQFS200
FAX FARIEHA |FresazaREBRUT|BREBRRUT 5.3 4.1 5.5 4.9 B8 | 1-B&MRATAERIEE=ZRADIQFS200
FAX HEIEHA |wrossrerra RERRUT|[REBRUT 11.9 4.3 6.8 4.9 I8 | 4B S MATEERE T = ZRADIQFS200
F4X RAGRHA |Frssiaoa| RHERUT|[REBRRUT|REERUT| 4.3 5.8 5.2 58 | 2-A &R KEHAERIE E=ZRADIQFS200
FARX AR [FacezizareRHEBRLUT|RHERRUT 5.4 4.5 6.6 5.2 B8 | 2-&SMatEE B E T = FZRADIQFS200
F4X PR A |FassAze [ RHEBRUT|RHEERUT 5.7 4.6 6.9 5.3 28 | 2-B &S METEERIE = ZRADIQFS200
T4RX PR |FaosEieArB | RHBRUT[RERRLUT|RHEERUT 4.4 5.5 5.0 #58 | 1-BSKETEEEIE = 2RADIQFS200




FAX PREHMA | FaesseAre | RHBRUT[HRERRUT 5.1 42 5.5 49 348 | 3-ASMKETEERIE E=4RADIQFS200
FAX J\IBETHO A |*resseare | RHBRFRUT|HRERRUT 8.2 45 5.7 5.2 255 | 2-& & MEHAEEIE = ZRADIQFS200
FAX RKAGRHA |Freegiaan| RHRRUT|REBRRUT[HRHRBRRUT 4.2 55 49 85 | 3-&&HSEER EE=4RADIQFS200
RHAF SEORMMA | FRoszi2R27E — BRHBRUT|BERBERUT — 6.7 5.4 2ENIY 7-NDA
ROLIYD | S [Feessiasa|RHBRUT|[RHEBRUT|RHEERUT] 4.3 6.4 5.7 HE | 1-BKKETEEREE=ZRADIQFS200
FAX PR |FrossieAse | RHBRUT[RERRLUT|RHEERUT 42 5.5 49 48 | s-A&MSHAERIEE=ZRADIQFS200
FAX SRRt |Frssiase[RHBRUT|RHEERUT[RHEBEREUT] 43 5.8 5.2 $%58 | 2-B &R METHER EE=ZRADIQFS200
AAEGER) | FHHA  [FreoxiA6A — 160.0 1358.2 9.2 10.6 13.5 Z0Hh | 1-B R RETEERIE E=FRADIQFS200
=D Kithih [N |FaemiR108| RHBRUT|RERFLUT|HREERUT 4.0 6.0 5.2 % | 2-BSKEEEIE E=4RADIQFS200
INIHYA Foth N | Faeeri Ao RHEBERUT|REBRRUT|HRHEEZRLUT| 3.8 5.9 5.1 HE | 3-BSKsTAERIEE=4RADIQFS200
J0Ovyal)— | ERIEHA |Fhosiaoe| RHBRUT[RHERUT|RHERUT 3.9 6.3 5.7 BE | 1-BRKETEEEEE=2RADIQFS200
RHAF HILU#hA  |FroosiAoa RHBRUT|RHEBERUT[RHEERLUT| 38 6.3 47 mEmIy| 1-8SKsTAERIE £ = 4RADIQFS200
1EHS RRIEHA |FhosiAoa| RHBRUT|RHERUT 5.6 47 7.2 5.6 mEmTy| 4-&SHEEREE=FZRADIQFS200
ROy | KA | FesiAoa[RHEERUT|RHBERUT[HRERFELUT 3.9 5.2 5.3 FE | 1-BSSTEER T = 4RADIQFS200
RoLIYY | N [Fresare|REERRUT[RHEERUT|REBRUT|[ 54 8.4 6.9 B | 2-& K KETEER EE=ZRADIQFS200
R"HAF ETIEMA |Frosae| RHEBRUT[RHEERUT|RHEEBERUT] 4.2 6.7 5.5 mEmTy| 2-& S KETAERIE E=4RADIQFS200
J0Ovyal)— | e |Frmi BB RHBRUT[RHEERUT|RHERUT] 4.2 5.8 5.4 HE | 2-BSKsTAERIEE=ZRADIQFS200
1EHS WMEMMR  |FaosAna| RHBRRUT|REERUT[HRHBRLUT 4.1 5.5 49 mEmTY| 1-8SHREEER E = 4RADIQFS200
ZFN Kithh R | FreeziA198 — BREBERUT 22.1 — 7.3 5.4 Z Dt 6-NDA
TAIA ERIEHPA |FoFiase| REBRUT|RHEHBRUT[REBERLUT| 250 8.0 7.0 EM4E | 1-CAPTUS-3000AZI & & S5 B GTRE B Rt B
piIskdl FARIEHA |FreosiRsB| REBRAUT|RHEBRUT|RERRUT|]  25.0 8.0 7.0 B9 | 1-CAPTUS-3000ARIE R EMRA AT EE
v =D AN | FaomeAsA[RHBRLUT|RHEBERUT[RERRLT| 4.1 5.4 48 gEmIy| 1-&SKETARIE E=ZRADIQFS200
RAX AR EERM A | Frizos2m88 [RHERUT|RHERUT 11.9 48 6.3 5.6 mEmTy| 2-8 5K EER E = ZRADIQFS200
roLI YD | HBAMA  |FreesAsa| RHEERUT[RERRUT|RHEERUT 41 6.5 5.6 FE | 1-BSmkEEER T = 4RADIQFS200
=P FOEIHA |Frzem2 A4 RHRRUT|REBRLUT[HREERUT 40 5.6 5.3 HE | 2-BSmStEER T E=4RADIQFS200
DYX/—0 | HRHKE |FeesAa[RHEERLUT 21.0 134.0 25.0 10.0 10.0 ZDHh | 1-CAPTUS-3000AR & R AT RE I TR E
2F/k7 BAFT b A [Freome A B[ RHBRLUT[HRERERUT|RHBRUT|] 250 8.0 7.0 U3 | 1-CAPTUS-3000AB! & S S i St BE IR 5 B
SvAi1EEsTH)|  FHBETHMA | FRoseAzsE|RHER U T|BRHBERUT[RERFRLUT 4.3 6.2 5.8 BE | -BRKETEEEEE=2RADIQFS200
SrAAEG—=010)|  FHBETHMA | Frow2AzsE|RHER U T|RHBERUT[HRERFELUT 4.1 6.0 5.1 % | 1-BSREEERE E=4RADIQFS200
7757 WERA | FaeossAsa|[HRHERERUT|RHEBRRUT[HRERFELUT 4.2 5.7 5.5 % | 2-BS RS8R E E=4RADIQFS200
RoLovy | WMEMKN [FressRoB |#SHEBRUT[RHBRUT|MERBRUT] 4.2 6.1 5.4 % | 2-ARmETEER EE=SRADIQFS200
Fal PR |FroeEsA o8| RHBRUT[RERRLUT|RHERUT 41 6.0 5.4 HE | 2-BSmStEERE = 4RADIQFS200
IX5F HERMMA |FrossAsa| RHBRUT[RERFELUT|HREERUT 4.1 5.7 5.4 HE | 1-BSmSEEE = 4RADIQFS200
roLoyYD | ARIEHMA [Frressaa|RHERRAUT|REERUT|RERREUT 4.2 6.1 5.5 FE | 2-BSmStEERE = 4RADIQFS200
INYHAT | Kithih ] [Frcemspoea| MHERUT|REREUT[HRHEBRUT| 5.0 7.2 6.6 % | 2-ARmETEER EE=4RADIQFS200
INYATAOY| Kithih N | FcessAzsa| RHBRRUT|REBRUT[HRERRLUT| 4.2 6.2 5.5 FE | 4B mEEERE = 4RADIQFS200
RoLIYD | K |FreessAse| RHEBRUT[RERRUT|RHBRUT] 4.2 6.1 5.0 HE | 2-ASKsTARIEE=ZRADIQFS200
1F3X hETH N | Frzossm2oB|RHB R U T|RHEERUT[HRHBRRLUT 3.4 46 41 #EK | 1-B R HETEERIE E=¥RADIQFS200




